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' 2543 x 7 = 17 801

2 543

caleulations:
- Multiply two-digi and, three~ digit, numbers by, a, one-digity number

7

Remember to move any

1 regrouped digits into the

1
A factor is a number that divides into another number exactly, I ] next column. After the
3 B et multiplication, add

without (eavmg a remainder.

the regrouped number to

u uimr of 2 | the answer.

' | Long Mulfilication

The factors of 20 are 1, 2, 4, 5, 10 and 20. 2543 x 67 = 170 381

The factor pairs are:

;::ig 2 5 4 3 Before multiplying by
4and 5 0 6 7 the number in the tens
column, remember to
Number less tharv zero- 178 01 use zer0 as @ placeholder
S C N 1 3 3 2 because the 6 in 67
aA (]{\ed, (]nd, bed, rT]I:)e[\S/ 1|/5|2|5 |8 (:)_ is 6 tens (60).
A waky ofp sphtﬁng/ rwmbers into smaller parts to- makes ’ I
therm easier to ) 1|7|ol3]8]1
=asLe —

The single: numbers used, to- represent, walues inv math ‘

Amngeqﬁnumben&bei:weembxmg&mnumben&and/
includes all, of the real; numbers between those tuwo- 2-4 | 2-8 52=25 | 5%=125 Short, Division
numbers. 2x2=4 2x2x2=8 | 5x5=25 5x5x5=1 s Tl ,

Seb of numbers that follour as pattery or rule. al1l’s Iz s[2]2 78
Pr‘{m@ Numb,e{\& 15 + 4 = 3 remainder 3

Goes from one term to the next by always adding (or s e o
subtracting) the same walue. the net olame,

28 + 5 = 5 remainder 3

1f your calculation has a remainder,
remember to record it in the answer
using the letter r.

136 + 4 = 34
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